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RS FO) = | f0dx (3.1)
dF
© Pl T = o) wEETEROME |
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BATEHN

F(x) = j(le4 — 4x + 1)dx IHnsb,
(3.2)
=15 X %x‘”l —4><% x4 x+C =3x>—2x*+x+C
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—{3 x 25 —2x22 42 +C } {3 X (—=1)°=2 x (=1)? +(-=1) +C }

=(90+C) — (=6 +C) =96
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- WUMEE dW = {F(x) cos 6(x)}dx

sz dW = f {F(x) cosH(x)}dx—f F,(x)dx [J]
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5.0 [kg] % O [m/s] 12

HZ

= 10 [m] X
- (OHERAIZ D TN B TR LR —
E K, = lmvl = 1 x 5.0[kg] x (4.0[m/s])* =40[]]

2 2

()10 [m]BBELT=1, MADFDEBHI)LF—

- RBLEFHTIRILEF—OBEE W =Fscos0=120[]]
W =K, —K, ;

= K, =K +W =40[]]|+120[]J] =160][]]
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_ f FOOdx = [F(0)]2 = F(a) — F(b) = =S (3.7)
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W = —mv,? — —mv,? [T] (3.5)
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(4) MIKIZEBIKH FHANMIKRIZD) BEZA TS0 —RINGER

@Eﬁﬁéﬂ (xEh L) = F7b\’*'1l:?‘%>iﬁ’°“0)1i—§

t t
m — - -7 %(t) 2

W = fxz{F(x) cos 0 (x)}dx = fszx(x)dx [J] (3.4)

1

P(t) = F(t)v(t) cos 0(t) = F(t) - 9(t) [J/s] = [W]

()

W= | P)dt [J] (3.8)
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